1. Prior doing nothing.

S Activity #469 - JIRA Tickets

Description  Treatment Progress Configuration Dependencies  Detail Links  Files Notes  History

| Technical progress

to delivred to realise realised left
nbre units [1] a 0 0

progress 0 % | calculated v | weight 0 manual S

2. After input in “to realise”, it’s showing 50 in “left”

‘ Technical progress

to delivred to realise realised left

nbre units 0 50 0
progress 0 % [ElEYETE i' weight 0 manual :'

3. “left” not changed to zero in spite of changed “to realise” as zero.

D[g Activity #469 - JIRA Tickets

<) 8O

Description  Treatment Progress  Configuration Dependencies Detail Links Files Notes  History

cost g i Ed 6,750 T Eq 6,750

Technical progress

to delivred to realise realised left
nbre units o 0 1]

progress 0 % | calculated ¥ | weight 0 manual 24




